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1 EHh ZF1 WP XE 22 1 15 5 11 3 13 1 15 43 54
2 AT BEE E#HROLC 24 2 14 1 15 3 13 42 42
B PN R AOLC 20 5 11 2 14 2 14 5 11 7 9 39 59
4 B Al R AKOLC 20 15 1 4 12 7 9 7 9 11 5 30 36
581 KX OLCIL—/8— 29 1 15 2 14 29 29
6 ¥NE BT ENRFERREXRE 44 3 13 1 15 28 28
TER BE  OLCIL—/— 27 8 8 4 12 8 8 28 28
8 #iake LAy R AOLC 20 14 2 6 10 12 4 10 6 15 1 20 23
9 Rk & R#EOK 23 11 5 3 13 17 0 18 18
10 =k FE R AOLC 19 28 0 13 3 9 7 8 8disqg O 18 18
11 FE =1 PRXKOLC 19 11 5 16 0 6 10 15 15
12 #l BF R AKOLC 22 6 10 dsg 0 12 4 14 14
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27 & EX W#ROLC 25 32 0 14 2 2 2
27 K BE KBrROLC 52 14 2 Bi14 0 2 2
27 XF £ R AKOLC 20 35 0 14 2 2 2
30 M A #iF R AR<OLC 20 23 0 Bf 0 dsq O 15 1 1 1
30 dtJIl K— OLCABIFST 23 15 1 B17 0 1 1
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